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Question 211 ( Topic 2 ) 

Which of the following should be done to reduce physical safety hazards around a newly
installed computer?

A. Verify all connections are seated properly.
B. Avoid placing other computers nearby.
C. Bundle loose cables with zip ties or Velcro straps.
D. Attach all peripherals to the computer.

Expose Correct Answer

Answer : C

Next Question

Question 212 ( Topic 2 ) 

A technician has added an external hard drive to a personal computer. The hard drive is
powered on, but the computer does not see the new hard disk. Which of the following is the
FIRST thing the technician should check?

A. The power cable
B. The OS version for compatibility
C. The hard drive firmware revision
D. The data cable



Question 213 ( Topic 2 ) 

A user reports an inability to access the Internet on a new SOHO router. On further
investigation, a technician notices that the wireless network is not visible. Which of the
following is the MOST likely cause?
A. SSID broadcast is disabled
B. Wireless password has changed
C. Firmware update is required
D. WPA2 is enabled

Expose Correct Answer

Answer : A Topic 3, Volume C

Next Question

Question 214 ( Topic 3 ) 

Which of the following cache levels are implemented on microprocessors?
Each correct answer represents a complete solution. Choose two.

A. Level 0 (L0) cache
B. Level 1 (L1) cache
C. Level 5 (L5) cache
D. Level 2 (L2) cache

Expose Correct Answer

Answer : B,D

Explanation: The Level 1 (L1) cache is implemented on microprocessors. The L1 cache is a 
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modern architecture, L2 caches are built directly into the microprocessor. Answer options 
C and A are incorrect. There are no such cache levels as level 0 and level 5. Reference: 
Contents: "http://en.wikipedia.org/wiki/CPU_cache" 

Next Question

Question 215 ( Topic 3 ) 

Which of the following SCSI types use 16-bit bus?

A. Fast Wide SCSI-2
B. Double Wide SCSI-2
C. Fast SCSI-2
D. Wide SCSI-2
E. Ultra-2 SCSI (Fast-40)

Expose Correct Answer

Answer : A,D

Explanation: The following SCSI types use 16-bit bus: 1.Wide SCSI-2 2.Fast Wide SCSI-2 
3.Wide Ultra SCSI-3 4.Wide Ultra-2 SCSI 5.Ultra-3 (Fast-80 or Ultra 160) Small Computer 
System Interface (SCSI) is the second most popular drive interface in use today after the 
Integrated Drive Electronics (IDE) interface. SCSI is faster than IDE and supports more 
devices. SCSI devices, such as hard disk drive and CD-ROM drive, are better suited in a 
network environment in which many users access shared drives simultaneously. Answer 
option B is incorrect. Double Wide SCSI-2 uses 32-bit bus. Answer options C and E are 
incorrect. Fast SCSI-2 and Ultra-2 SCSI (Fast-40) used 8-bit bus. Reference: 
"http://en.wikipedia.org/wiki/SCSI" 
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